Trend Task: Rodney’s Window

Team 4&8
Historical change and its consequences
3 pictures; instruction card; answer sheet

Questions / instructions: % response

2005 (‘01)
Here are three pictures looking out of Rodney’s window. 2. What did you think were 3 of the main year 4 , year 8
The first picture shows when he was a baby, the second reasons why the changes happened?
when he was at intermediate school and the third when

he finished high school. How well has the team identified

the causes for the changes?
You are going to use these pictures to think and talk about very well
the changes that took place from when Rodney was a baby.

Here are the things you are to do. moderately well

Both year 4 and year 8 students scored substantially higher in 2005 than in 2001. Whereas 20 percent of year 4 students obtained
a total score of six or more, 67 percent of year 8 students reached that level.
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